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Frdr : ¥ WIS 1 IRAS I T 1 T @S (3), @ () @
@z (9) a1 &% @ve H 5 7o € A s W W1 3F
Efed |

Instruction : Question No. 1 is objective type question. It consists of
Section (A), Section (B) and Section (C). Each section has
5 questions of 1 mark each.

v-1  (@ue-231) T fawen g fafaw : [1x5=5]

(Section-A) Choose and write the correct option :

() T waw it v i Bt 8 2

(37) NaCl (9) Na,SO,
(7)) NH,CI (3) KNO,
Which of the following salts is acidic in nature?
(@) NaCl (5) Na,SO,
(¢) NH,CI (d) KNO,

ssp MRRARANIRNAY PTO.



[2]
(i) T e < o ot e e T @ 2
(37) wfeaw

(7) EEm
(g) T

(3) THREA

The position of which element is not fixed in the periodic table?
(@) Sodium
() Helium
(¢) Chlorine
(d) Hydrogen

(iii) HATE
(37) fagurg (%)
(%) agest (3) e
Bronze is :
(a) Alloy (b) Gangue
(c) Slag (d) Flux

(iv) el =i & <fial = o § 5567 O % 9, 453 FfeEl, 23 U,
7769 g UTC 71T | 39 S 1 Frel WATHF Ieqre B0

(37) =i & o Sital &1 Wifed SiaWR

(¥) i % T aeafadl &1 affead stevr

(§) A F T Sgail 1 winfea e

(%) had u® & Nl w1 wistan sHawr

The number of organisms in a garden was estimated as

5567 grasses, 453 shrubs, 23 trees and 7769 animals.
The primary productivity of this area will be nearly equal to :

(@) biomass of all organisms of the garden
(b) biomass of all the plants of the garden
(c) biomass of all the animals of the garden

(d) biomass of only all the grasses



[31]
(v) &R IR @ wifae wifveell # wifve favem S d .

(37) it (%) g

(T) wogEt (7) I |t

Cell division that takes place in somatic cells of our body is :
(a) Meiosis (b) Amitosis

(¢) Mitosis (d) All of the above

(@ues-w) = wﬁr =i qfd S :
(Section-B) Fill in the blanks :
() Trafa ¥ v = =g — €)

Speed of light in vacuum is __ .

(i) farga A grgl el 1 G — R

The ultimate energy source in the world is .

(iif) wad Sy faga Hows 7 — R

The most electro-negative element is

(iv) faega vfe &1 S.1. W6 — R

The S.I. unit of electric power is ;

) TR — WA TR e

Packing gasket is made of ___ material.

(@us-|) 3faa wary ey

(F) (@)
() THIA - See o faael & 1@
(if) AT TSt - SRAA
(i) wHafa @ - Ffoifoa =3
(iv) &= -  273°C

(v) <G F & S - e e

[1x5=5]

[1x5=5]



[4]
(Section-C) Match the following :
(A) (B)
(i) Absolute zero — . Wings of bat and butterfly
(if) Animal ecology —  Dioptre
(ii{) Analogous structure —  Supercooled liquid
(iv) Glass - =273°C

(v) Unit of power of lens —  Charles Elton

¥ HHI® 2 | 6 TF AfTsTig v ¥ 9 W W
2 % IEfed ¥ (YRS IW HT Afushan wsg-E
30 1=} ®)

Instruction Question Nos. 2 to 6 are very short answer type questions.

-3

Wy -4

Each question carries 2 marks. (Maximum word limit of

each answer is 30 words)

fordlt o (W) W ot Tt foFe wabr itafdfa et € 2
How does the ionization energy change in a group?

sfe 9re1 & S 3w fafan)

Write two uses of baking soda.

AN 341§ ? 36 "l & AW fara )

What is Biogas? Write the names of its components.
itfeafaet 9 fd Fgd € 2 39 9eal & m fafaw)
What is Eco-system? Write the names of its components.

aff yoFe T ¥ 2

What is vegetative reproduction?

(2]

2

(2]

(2]

(2]

S-5B



[5]

frdor Y FHiw 7 | 10 a9 eI wem ¥ wew we w
3 o wEfem ¥ (WEE IW W v wre-dm
50 W% ¥)

Instruction : Question Nos. 7 to 10 are very short answer type questions,

Each question carries 3 marks. (Maximum word limit of

each answer is 50 words)
AT v fird e ¥ 2 AR o, U2 3 e W e =2 =8
FHARI T W, W BN aren AfufsEan 1w fafan
What is nuclear fission? Write the chemical reaction that takes place

if slow moving neutron is bombarded on the nucleus of 4,U>3>.

1| W 4V § ag F gl 1 921 < €, 9 wfafes w1 g ¥ gt wan
Y TS § ?
When we increase the distance between the mirror and the object,

then what would be the effect on the distance between the image

and the object?

uy-9 zﬁﬁﬁ?ﬁaw%ﬁmmﬁaﬂﬁgﬁﬁamwm

MR ?
Write the name of any three appliances in which electric motor is

used.

UgF-10 ~ a9 =99, Wigfas 997 U6 AJha ol R wifse)

Define artificial selection, natural selection and adaptation.

(3]

)

[1+1+1=3]

[1x3=3]

S-5B

P.T.O.
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Ardsr : Y9 HEEH 11 W 14 76 TYSWHE U ¥ YAw I\ W
4 3% ofEfea €1 (VA% SW H Afywam w=-diwW
75 T ¥)

Instruction Question Nos. 11 to 14 are short answer type questions.
Each question carries 4 marks. (Maximum word limit of
each answer is 75 words)

yoA-11 S T ST Yaud | IR # fafau)
Write four differences between aerobic and anaerobic respiration,
Hear
OR
it T STeifieh Yo =R Si fafa

Write four differences between sexual and asexual reproduction.

[1x4=4]

UyE-12 WO T STHWTE] 0T 1§ ? SER qoht TR I | [2+2=4]
What are dominant and recessive characters? Explain with example.
37T
OR
mﬂﬁmﬁmw%?wimwaﬁm|

What are homologous and analogous characters? Explain with example.

Y-8 $9° el % 9 9 % pH 9 9o # fyg e E ) sitwsi @ faverw

F Frafafaa 7 F SW T :
AR
oY & AW pH 9=
@M F 912 = faeraA 8.2
:ﬁq\qﬂ'{g 22
o 7.0
Hifsaq TReieans faaaa 13.0

v [1x4=4]
(37) frg gerd =t Uohia sRE &2 |

() fora i &1 Thfa eveia ® 2

(%) o g1d ! Wl St € 2

(3) SrF-w 7Y T g e ?



w14 WD Y % ol Seired vl Pl faga A Wi (242
(37) -mifsha fa=
(7) whwa =1 Tt g

Describe. the industrial production of ethanol from molasses under

the following heads :
(a) Labelled diagram

(b) Chemical equation of the process

arerar
OR
PVC &t Hufa =1 foamat 39e =1 &1 3ugm fafaw)

Write the condensed structure of PVC and write any two uses of it.

Fdr : W AR 15 Td 16 W W ¥ ToOE U W
5 9% efed ¥ (YWAF SW H Afusay -
150 9% ¥)

Instruction

Question Nos. 15 and 16 are long answer type questions.

Each question carries 5 marks. (Maximum word limit of
each answer is 150 words)

T¥T-15 ﬁ?ﬁqmﬁmﬁmﬁm&)q&tﬁﬁwqﬂ(ﬁﬁﬁuwﬁa
HifsT)

Establish the relation between the radius of curvature ( R ) and focal
length ( /) of the spherical concave mirror.

[5]

3rerar
OR
mmwmm%?mﬁwmﬁwmmﬁa
TR

What is reflection of light? Write law of reflection and draw labelled
diagram.

 85B




Analyse the data and answer the following questions :

Table
Name of Substance pH value
Solution of baking soda 8.2
Lemon juice 2.2
Water 7.0
Sodium hydroxide solution 13.0

Question :
(a) Which of the substance is basic in nature?
(b) Which of the substance is acidic in nature?
(¢) Which of the substance is neutral in nature?

(d) Which of the substance is strong base?

S7qr
OR

< ot 1 IOy WS A 5, 7 U 10 © | fafey fh—
(37) FA-WMIA T 18F T ;

(F) FA-TMAT T 15 F R ;

(F) IA-TM AT 13H] ;

() Aol o fore ol & 1

The atomic numbers of three elements are 5, 7 and 10 respectively.
Write—

(a) which of these belongs to group 18;

(b) which of these belongs to group 15;

() which of these belongs to group 13;

(d) all elements belong to which period.



191
g ¢ IS P (STeh) vl o it 3 s mi

b e [14242=5)
(%) -mHifewa Tafes
(¥) wrifafy

Explain electric generator (Dynamo) under the following headings :

(a) Principle
(b) Labelled diagram
(¢) Working method
3rerar

OR

£t <ve e o S gd I A S A @R TR T
Yt e Wit yam & avi e famgell & il Fif :

Draw magnetic lines of force when North pole of bar magnet is

aligned with the geographic North and describe under the following

heads :
(a) Labelled diagram
(b) Application method

(¢) Two precautions

£ & T P.T.O.



[10]

o W HHIF 17 T 18 QUIwd ¥E ¥ T T W
6 37 oTEfed ¥ | vaw ¥ A @ 3U-u ¥ 1 (VAF SW A
Ffiraq y=z-4i T 75 915 ®)

Instruction : Question Nos. 17 and 18 are long answer type questions.

Each question carries 6 marks. Each question has two
sub-questions. (Maximum word limit of each answer is

75 words)

- () T % 9 99 F1 W= THifRd fo SR

S-5B

(%) smeE § wfaa HCl o & fafaw) (18 9) [3+3=6]

(@) Draw a well-labelled diagram of human digestive system.

(b) Write the function of HCI secreted in the stomach. (any three)

3erar
OR

(37) AFE g9 % wrEad e (LS) &1 Wwo Amifehd fas sAEe|
(F) THE-GYeme Ft gfvm fega vk & vamafe e fafae)

(@) Draw a well-labelled diagram of longitudinal section (LS) of

human heart.

(b) Define photosynthesis and write the chemical equation of this

process.

(37) uig e aurg # i ol % 3R 9T i iR fafau )
() Frafafaa framkem eEgiem & fe ol = gufa &2
() TEEeT A W s g § I

(i) wEgeE A W R F g F v S I @ 98w

“afe’ Y Sare o ¥ ) [3+1%+1%=6]

(@) Write three differences between metal and non-metal on the

basis of physical properties.







